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POLITICAL SCIENCE

( General )

Paper : 6.1

htll Marks:80

Time:3 hours

The figures in the margin indimte full marks
forthe questions

Anstaer either in English or fn Assamese

1. Answer/Choose the correct answer of the
following : 1x 10=1O

ffiR-smqr bw fr?il/\sq bE< TrR Sfi're<r :

(a) What is Civil Service?
q'rT{R-$ fi-<r lfreE ft 1qr r

(b) Who can terminate the service of
members of State Public Service
Commission?

Tr&rs cErqpKI qrc.lltrFr cqry l<r-c|s cfrcq
qflqlRseR< qrr<r
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(c)

(d)

(e)

From which word the term 'budget'
originated?

Srcqt' wrbn W< ft IS "rq{ "t<t i<q.?

Mention the period of financial year in
India.

snsq Rq{ <ft qrrcqm brsq r-<l r

In which year the Public Service

Commission was set up in India?

gFIgE CqFFE'1:[I qIETIfl CfN D-{g '{'{ T-{I

?qRq r

Who is the author of the book, Essag in
Sociologg?

Essag in Sociotogg,:fQ?ffi <Dfist CSI{ ?

Who first used the term 'development
administration?

R-{F.r gqq4' wrbt csra{ dcie{ <KqK

afrfrq 2

From which word the term
'bureaucracy' originated?

g6q;4vq' wfi ft *rqr{ flitt 6q t<qt
What do you mean by accountability?

EFKq-q 1fren fr pr r
When was the Right to Information Act
of India enacted?

sFtss sefi qqK qf]-$'K qF3?rq c+F$ g'1T{

n-{r tqRq r

2. Answer the following questions :

E-E< gfiTq{ b-sq fixn :

(a) Mention two disadvantages
promotion by seniority principle.

cvl$el fttr< &&s ft{I flmqF< TBI 
qrir{R

0rsq +-qI r

(b) What is the difference between
education and training?

FrqI qrc Efrqq< 'nqf+i ft t
(c) Write two features of Civil Service.

qqnR.s n-ffi $I ?qFrb fr?fi t

(d) Distinguish between surplus budget
and deficit budget.

KrR qrcqt qr lTF <Kqbq qlqE szsq fr6fu

sill
(e) Mention two evils

bureaucracy.

q-{q{ qrqrarrq{ F qrircr{ Sesq T-<t r

3. Write short notes on arty four from the
following : 5x4=2O

ffiR-sr<r<< fr cqru SF- seF{s DT 6tpt fr.n 
'

(a) Control by the people on administration

g'IPT4g \e'Fs q-fi{li{q-< fr.qcq

(b) Merits of direct recruitment

esr{F er{-r+{ rRqlqtr
(c) Budget as a tool of socio-economic

transformation
qd_"1qT&-S sefla,T.{ qrft{, Rutz"t sr6qi
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(d) RTI Act and good governance

P11 wfta q-E 
X-3r11.qa

(e) Problems of development administration
R-on gim+< qffiTHI3

4. Answer any four questions from the
following : 1Ox4=4O

sq{ fr c+lrlt dRA sr< G-q< fr$:
(a) What is Public Service Commission?

Discuss the powers of Union Public
Service Commission.

cqrgzT<t qK{trt ft r cqfu cq, z{-<t qrcilrt{
S{-OH{q TEID-{'I T?IT I

(b) Evaluate the promotion system followed
in India.
sF[5\5 gDfis 9r(nTfu <r{EF{ TqfiT{ S-{I I

(c) Discuss the importance of Civil Service
in modern State.
qtfis {El,s- \qqFR-s cr<t< s+q qK6nD;{I $-{I r

(d) Discuss the principles of budgeting.

Teqt gfi-{ "ih-BT ftfrITqqICETD..:II TTI I

(e) What is Lokpal? Briefly discuss the
powers of Lokpal.

cqrseriq ft r cqKflH{ ${-\gHT{ rTiT
qraEID-{l T-$ |

(n "Financial Administration is the
backbone of Public Administration."
Elucidate.

'1?q{ ${pt{ cEFFe-tpFt{ stqqls r" TrFlfi T-{t I
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